Pennsylvania Turnpike Commission
Bid Tabulation

RFx Number

6200001191

Due 5/29/2018
Net Value

1 TRIGGER/PIVOT LINE LAZER 11 5900
2 BEARING FLANGE TRIG LINE LAZER 1V 5900
3 SCREW MACHINE PAN HEAD LINE LAZER 115900
4 KIT REPAIR FOR KAMBER 38-20 PAINT GUN
5 NEEDLE FOR PAINT GUN
6 SPRING VALVE KAMBER PAINT GUN 38-20
7 SOLENOID FOR PAINT GUN
8 CONNECTION MATERIAL FOR PAINT GUN
9 CAD CELL FOR PAINT HEATER
10 NOZZLE MATERIAL INTERAL 6.8MM PAINT GUN
11 NUT FIXING FOR PAINT GUN
12 PISTON SPRING FOR KAMBER GLASS GUN
13 NUT VALVE BODY FOR KAMBER GLASS
14 SCREW CLAMP WIPER HOLDER FOR KAMBER
15 JOINT WIPER FOR KAMBER GLASS GUN
16 O-RING PISTON FOR KAMBER GLASS GUN
17 DIFFUSER FOR KAMBER GLASS GUN MODEL
18 AIR NOZZLE BASIC STAINLESS STEEL
19 TENSION SPRING AIR FILTER KAMBER PAINT
20 MUFFLER FOR WILDON XPX800 PUMP
21 FLOAT FOR AUTO DRIER FILTER TRUCK MOUNT
22 REGULATOR REBUILD KIT TRK MTD LINE STRIP
23 JUMO CONTROL FOR TRUCK MOUNTED LINE
24 VALVE 3-WAY PAINT PUMPS & GUNS
25 SWITCH ROCKER LINE LAZER Il & 1V 5900
26 VALVE BODY KAMBER 3820 PAINT GUN
27 IGNITOR 12V DC PAINT MACHINE BURNER BOX
28 SHAFT SEAL REPAIR KIT 2015 BOSS COMP
29 FITTING SWIVEL PUSH-ON 90 DEGREE
30 TUBING NYLON 1/2 IN OD STRAIGHT AIR
31 ASSEMBLY PUMP FOR HEAT EXCHANGER
32 NOZZLE EXTERNAL SIZE 44 FOR PAINT GUN
33 PAINT GUN 38-20 KAMBER
34 HEAT EXCHANGER 804-4P STAINLESS STEEL
35 CONTROL REMOTE SKIP LINE
36 WASHER NYLON BLEEDER 5/16 IN PAINT GUN
37 CONNECTOR 1/2 IN FD-6213-51 FOR HEAT EXC
38 O-RING VALVE BODY FOR KAMBER GLASS
39 PISTON FOR KAMBER GLASS GUN MODEL
40 GASKET LEAD FOR BASCO HEAT EXCHANGER

1729
1732
1736
1969
1970
1974
1980
1981
1984
1986
1987
2000
2001
2002
2003
2004
2005
2006
2007
2009
2011
2014
2016
9645
9781
9792
10439
12686
1977
1979
1983
1985
1988
1990
1992
1993
1995
1997
1999
2010

M-B Co Inc

21528.74

QTY UNIT NET PRICE

1

P P PR RPRRPRLRRRPRPRRPRRPRRRPRPRRPRPRRPRRPRRRPRPRRRPRRRRRPRRRPRRR

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
KIT
EA
EA
EA
EA
EA
EA
EA
FT
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

17.96
2.26
2.26

200.87

100.1

8.3

91.38

91.96

31.47

164.63

36.58

0

11.73

92.25

30.22
20.5

397.57
201.84
4.56
43.18
53.86
242.76
194.27
107.14
12.53
51.54
147.57
325.64
5.2

1.6
926.75
205.2
1079
4718
145.36
1.6
125.33
3.3
114.46
45.68

usD

NET VALUE
17.96
2.26
2.26
200.87
100.1
8.3
91.38
91.96
31.47
164.63
36.58
0
11.73
92.25
30.22
20.5
397.57
201.84
4.56
43.18
53.86
242.76
194.27
107.14
12.53
51.54
147.57
325.64
5.2
1.6
926.75
205.2
1079
4718
145.36
1.6
125.33
3.3
114.46
45.68



Pennsylvania Turnpike Commission
Bid Tabulation

RFx Number

6200001191

Due 5/29/2018
Net Value

41 REGULATOR PANEL MOUNT 1/4 IN TRK MTD LIN
42 WHEEL ASSEMBLY 3/4 IN BEARING FOR

43 GASKET CAP TRUCK MOUNTED LINE STRIPER

44 ACTUATOR TO RAISE & LOWER PAINT GUNS

45 SOLENOID REPAIR KIT PAINT GUNS ON/OFF

46 PAINT HOSE INSULATED SS ENDS 3/4 INX15FT
47 COUPLING TUBE 50MM KAMBER GLASS GUN

48 NIPPLE 1/4IN TO 1/4IN KAMBER GLASS GUN

49 COUPLING 3/8IN X 1/4IN KAMBER GLASS GUN
50 COUPLING INJECTION TUBE KAMBER GLASS GUN
51 CHECK NUT 1/4 IN KAMBER GLASS GUN

52 BEND 90DEG COUPLING TUBE KAMBER GLASSGUN
53 GASKET 2 IN NEOPRENE FOR PAINT TRUCK

54 WASHER NYLON BLEEDER 1/4 IN PAINT GUN

55 HOSE GLASS BEAD & CHEMICAL 2 IN PAINT TK
56 SENSOR PROBE COOLANT TEMP LOVE CONTROL
57 FITTING COMPRESS LOVE CTRL SENSOR PROBE
58 GAUGE LIQUID FILLED 0-160 PSI 2-1/2 IN

59 VALVE BALL 2 IN S/STEEL FULL PORT

60 VALVE BALL 1 IN S/STEEL FULL PORT

61 GASKET SET PAINT MACHINE BURNER BOX

62 WINDOW BUBBLE RT PAINT TRUCK REAR CAB
63 WINDOW BUBBLE LEFT PAINT TRUCK REAR CAB
64 GLASS BEAD GUN KAMBER MODEL 90XHO

65 CAMERA ENCLOSURE LINE PAINT MACHINE

66 VENT OUTBREATHING PAINT TRUCK TANKS

67 VENT INBREATHING PAINT TRUCK TANKS

68 VENT EMERGENCY PAINT TRUCK TANKS

69 EXTRACTOR/DRYER LA-MAN MODEL 120

70 EXTRACTOR/DRYER LA-MAN MODEL 180

71 SERVICE KIT LA-MAN 180 EXTRACTOR/DRYER
72 PUMP WILDEN XPS830 LINE PAINT TRUCK

73 SERVICE KIT LA-MAN 120 EXTRACTOR/DRYER
74 TAPE TEFLON JOINT SEALANT 3/8 INW 25 FT

75 GASKET PAINT TANK LID 10 IN

76 FLANGE BEARING 1-1/4 X 1 X 1 OUTRIGGER

77 GASKET CIRCULATOR PUMP/HEAT EXCHANGER
78 END PLATE KIT PAINT GUN SOLENOID

79 CAMERA DIGITAL COLOR SURVEILLANCE

80 FILTER AIR GLASS BEAD TANK PAINT TRUCK

2012
2013
2015
9663
9664
9786
9787
9788
9789
9790
9791
9803
9804
9805
9807
10337
10338
10339
10340
10341
10342
10353
10354
10355
10357
10359
10363
10364
10366
10367
10368
10403
10433
10434
10436
10437
10438
10440
10383
10393

M-B Co Inc

21528.74

QTY UNIT NET PRICE

1

P P PR RPRRPRLRRRPRPRRPRRPRRRPRPRRPRPRRPRRPRRRPRPRRRPRRRRRPRRRPRRR

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
FT
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

78.12
82.54
15.13
704
27.43
704
47.85
33.38
50.17
55.85
33.62
35.11
0.6
3.57
16.48
107
49.38
24.8
122.53
47.13
33.9
464
464
950
197.5
224.01
114.2
121.31
504.29
1017.14
364
1795
120.63
121
715
4.34
11
27.28
587.8
12.07

usD

NET VALUE
78.12
82.54
15.13
704
27.43
704
47.85
33.38
50.17
55.85
33.62
35.11
0.6
3.57
16.48
107
49.38
24.8
122.53
47.13
33.9
464
464
950
197.5
224.01
114.2
121.31
504.29
1017.14
364
1795
120.63
121
71.5
4.34
1.1
27.28
587.8
12.07



Pennsylvania Turnpike Commission
Bid Tabulation

RFx Number

6200001191

Due 5/29/2018
Net Value

81 FILTER AIR COND REAR CAB PAINT TRUCK

82 KIT REPAIR FOR KAMBER 90HO GLASS GUN
83 REPAIR KIT GLASS BEAD GUN KAMBER 90XHO
84 SOLENOID 4 WAY SMC SV2100-6FU-TS-N7 12V
85 NOZZLE EXTERNAL SIZE 42 FOR PAINT GUN
86 SPRING JET TUBE 30A BINKS PAINT GUN

87 JET TUBE 30A BINKS PAINT GUN

88 GUN PAINT BINKS 30A W/391 SS AIR NOZZLE
89 NOZZLE AIR 391 S/S BINKS 30 A PAINT GUN
90 KIT REPAIR BINKS PAINT GUN 30A

91 NEEDLE FR/SEAT SS BINKS PAINT GUN 30A

92 NOZZLE FLUID 46-SS X 390 BINKS GUN 30A

93 END PLATE W CONNECTOR SV SERIES SMC MANI

94 END PLATE FOR SV SERIES SMC MANIFOLD

10394

1982
10356
11203
11338
11925
11926
11923
11924
11984
11985
11986
12765
12766

M-B Co Inc

21528.74

QTY UNIT NET PRICE

1

R P PR RPRRPRRRPRRRRR

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

23.9
94.76
94.76

165
227.16
19.26
83
846.77
84.02
22.75
61.48
114.96
153.5
47.25

usD
NET VALUE
23.9
94.76
94.76
165
227.16
19.26
83
846.77
84.02
22.75
61.48
114.96
153.5
47.25



	BID_COMP

